419

And  order syd'am
7::0. 5

mdl{?,! a+t &’530"

Yiz) - ——— 0:k

Z5= s @z s 0 °

Colina for patapeteors usirg Jable 4.9 in FPU, ..

9=W§T f{—_{—'é_v :w(,\ﬁ’l_ |-.52

"")n_r’- a 60‘1 Ia

c: expl- Juw,T)soxp(- 8 L0416 )=6,739 |

b='A502% («va unity agin ot DC) :

The oveichoot should be oﬁ?rcyc{mam 30-4 O %,
fxc_ordmg 13 Egﬂ Y3000 FPW.

The discefe bade plot and the e recponse alt
artacked, |




4 26| GCs)z 0Ga\)

S § 5O
:fO|Sec
‘iQ(sJ__ e e 1o
R T e e e (R T LB
A~
= Jo ~ B g |
e+ 10 5 TEFSFT0

Plss+I0Y+ Bg= [0

F): ))g = - (S & l )
Gl - 1 O " 'S:F \
S 5T S+ 1O € ¢ 41_,("“"£0
= ‘-'Sq’q --—+—-4-....l-—:____f"'-5. - — = e
L.f-t—l5j 2y ?‘, 75 x> (S 4‘5).14 ?‘ 75—- (s"'--'))?*??; F
Zz_GSLQ_S- 22 & ot z(z-c"'”ra-_r-m)___
2% 2e (T T5T))z 46
=T
e B i s (57 T)

575 22"26"§T(05(@3T)Z+C T

)

_ - = 4.5
6(‘23= l-—(:?:l)Cz-é; 'ET(_‘as‘Lﬁ:??ﬂ +\T;:.;_'L c 5m F'?'ﬁ"o 2 sz‘mm e

9] T C0.0i99F 5 - 0.01099
( MATLAG Angwer: G(z) ¢ e

' 014462~ 0.09F%7
‘(O(Z)' 2= 1,961 2+ 0:%% ﬁ\w‘ =001




kY -m‘

o () / Yo (€)
w0 blem 4 iC\ _4/"\ ry
l ‘F_ET- S I\‘w’( 9*“(

% -—6—. ; 8 - YLK) 't"Tk
li o e { WV E =0T
| g

| \102)3 Hien OJ:, La il
|
Lb)giq Qk = % [S'mfé_k + 5.‘?1_(__&_2,- Z‘T‘;)kj

J' Siﬂﬂh""s""(&k}gwh(bk) where a=S2 and b=02-Zm
| > j[m(m Bk + i8-8 ] whece p-E2Q 7B L1y
; = e F}t 0 k)

| = (29 o (i)

‘ = Sm(A'c)( oS Wk)




(Ql) \/]d(.ﬂ: sio(g% {,)

/3\/\ -

(¢) Pssome yk)=sn % k

The peat ”quqoma/ 5 hiyh o fhe beaﬂhﬁ envelope

13 netr visible




—\_\\h-—- —_—

ye ¥ K(0.999=-0.056%%)

2% -(1.9¢4-0,999€K)2 *2.9% - 009699 K

" {(b) Zeros: 26,6942

Blor s 5= (B E A - ograr )2 = (o oo~ —
i o B ,;- —




A+

« 44
e

-

e




r @

()

e} -4

2% 052°

H(z)= %%"9)

(244052°)o(2) = (0.52° -0.5) e (2)

Hiy- St

blk)=0,

]+”ld

-
-

J(eeb)- 0.5 yllcsb)= 0.5 eCes5) - 0. 5¢(k)

[ Th DC gan is _ﬁwd 17!*}‘41J 2=}
0
O(k) =0.5¢(k=1) = 0.5k} 0. 50(k-1)

5 (¢ Uk-1) - elkby olk -Bj Ay |

e T e e —
ik e w1 A
T 1‘ l | '\ T _] } ’ E Lo |
j i e I___i . - A_!r .




i

1=

(b




} foblem /
&
| (%)
|
i
|

(c)

doy/'

AN S IR

’2.2,2'-; 2= .5'
.Z._,‘

izl 2 = "3_'3#34 N 5_2,11;

I R Lo o 4 T
2" .

S(z)=H(=) - EZTT

il The sYep cespon € i @\r@'\ )0\7 Hhe impolft rv;ponée.

Mu‘h}a|{€dh7 &t sep.




